





I s,
£ Lrie' == N5k g
Y R 4

t—-—L———”j_?"3 Ll
L T e 2 U xRt
ﬂﬁ_i e Iqr” @5y (§FCPe
25t (f’ic‘/? (¢ e')E
(}(é( e (LL; 24
D‘;j? ) +r{é'¢c‘j4 ﬁ’ : q. KJ»E

=

QY -_.% peena Y/ B
ox8z E (o049 E /:KW
QY

97 o
b |
W74 y L 2 AN
e -5/ 2% by ™ 9% / (c-2)
€ # 3¢ P o gl CHL A
2 e 7 I L‘-r’+g';% 92 T e U0y

D (4-x)(#- a4 G@-AC- oYU & -7 )<~
>

? %9y 2x02 re 7 T
lewe A =6z 0 c-¢ 2 =p V:f‘f-e‘
S el ety o e "*"1;/

| yﬂ«/«/mm At~ 4 x

A= Tar= L 2¢
S A=
# = (f“./: L 3(.%7 /(_/3(;0%( );é_ﬂf‘p,{
£ )_,_
[y KH DS
B Liandid 20
(f‘f S i}%‘g / é;—(’%“f-‘-&

St . il oA~ _! o
(§*eyz ((g&cy,%‘ "%;wy ;_‘i‘)

T e T TR S



s A
ff-l)z.

20 + ¢ (i

(@/L:

J,/

oL
J,
g,y
4,8
2,6
0,7
28
7,85
i
.41
720
1,05
/,/¢
1,/
4,20
/25
770
A
8
/6
<
nL¥

G
P37

i/ '/zzf

7,87

G058 145025

VA
4/0L8
2
4£3225°
55y

45624

200

9,070 80§
0,0y25)S
2,093 5065
0,167 198
0,0y2278
0,333 850
89224565
9837110
G, 8590 0o
9,09y 00
7 0483/5
0,)52875

Z /025 0,806890

2

8800580

39225 4519 850

2,9y

0,568 475

 Sbzr 702/ 060

Z éﬁ
2z ,;/
i
3.5
5,47
72y
v, b7

S, 00

2,07%380
L1820
4279 )10
4386285
{/?Zyé'/f
5, 568 978
7, 659253
4787 YLs”

a
)w) FE) o

b cvvs =~/ QorvrI-2 G,00475,

0, 30180 ~1 06020602 0,03626

o Y7720~ GI¥ 28~ 0,07255

8,60l pbo~ 209120~/ 0,//10%0
s, K;yﬁp., 397990~/ 0,/4311
00781571 §5630¢-1 0,/6690
0,8950081 690196~1 0, /8081
8,903050~1 §06/80~ 0, 155%1
0,425515~1 £S#838~1 0, /§55Y
0,95 v2%2-1 §08486~1 0, /827}
8,97729~1 955%78 -/ 0,180)}
O, qprve  Vovr>= 047678
0,021/17 4&?%57‘? 0y 1)00
0,09355 4082786 0,16665
2,060658 0,/2/596 0/6088
0,074187 G/ 58362 0,/5%8Y
096500 4193820 0,/9885
0, 113593 C22)886 O fytyo
0,7%6/128 4392256 0, /3002
8/pbogs 0352182 0 1/87%
29,2040 4508250 ‘0, 10706
0,230445 0400698  0,09683
0 255273 (510856 14,0875
527885 95 7508 Qo911
Q01050 0402060 0,0/55

o

////;
Z
2

—0,¥5y
~03175
~0.200%
~0,09%/
b, 0ce0
*0,0820
£0,1562
+0,2205%"
‘02770
+0,3266
*0,7 20/
*o 4918
1457/
*0,5358
*OSEI/
#5771
#0,615°
*0.6350

-9, 3427
-0, 1¥380
b —0, 7528
~08LL(0
~0,79130
~0,69036
-0,53823
<0,30336
~0L7/9/
~0, 18036
=4 d5950
2,0
+0,08%/5
+0,/7/82
0,258 ;7
40,33290
90,4082/
t0,48/0 &
L0 M1 FYS
rO,FYSS /
*0,86379
*0,97¥258"
+,078%%
+hlgby$
+HL7/ 1L



R edp . A by =
ok . 2. L0
2

e L)
M




_1

Aﬁ‘ ,_i9 GMF Jtlp- m
VI YT __77"_'}‘
42:—3.@+2,h2+j: 4—-3&‘“() |
Yre fre Y Ve &

i

-

- 1II
'1/ A ?l ) 3 B
= ——-N- v §) === — L, w _tl




LA ARDA

vay b :
TNGAYRY 80184 oG
WYARYH

Z .
N\
\_\\‘ \
§576%¢
i 4yt /9 WTxLZ‘/ﬁUf:O’
q + éwztl/.:(!
L2/ G Iy T
24
172 kel it /
0,810 £
! fp
[y A5
J, r¥2 ¥ 26933
&V70 sb10 /
D TR >
Foa L R
e /65/ 7”//
y 20 Fw b
cv s/
Lot 2,0207 % B2y \g'féj{f;
<l O TR BT
Rl iy 023 s6-1 X
I/ﬂffﬂ p,[d %
A3
L8/ /
//z/o,/oeza/ 9,629
4L Aanhe
/ PR e I e
/2885 o4
0,6 493 < EE
G, gor¥S~—1 2,556 2
J, Oyy3 Z, 6?77
P EsT )
7,6y 2 ~/ Gy g wp e =
7,839 79,4764



	Ms_5103_0256
	Ms_5103_0257
	Ms_5103_0258
	Ms_5103_0259
	Ms_5103_0260
	Ms_5103_0261
	Ms_5103_0262

